1. Start today by checking the solutions to
your HW using the solutions

If questions still linger, use the HW Tally

2. Then, Pick up the Warm Up
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Questions on HW ?

1-66. Graph the following functions and find the x- and y-intercepts.
a. y=2x+3
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b. j(x)=2x+3 (_ lOS;O)
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c. How are the functions in (a) and (b) the same? How are they different?
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Warm Up

1.2.1_Day 2

Multiply the following polynomial factors:

oMgial times a binomial
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amonomial times a binomial times a binomial
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@ One has to be careful when factoring quadratic trinomials into two binomials When there

is a common factor. in fact, the box method doesn't quite work the same if you do
not factor out the greatest common factor first.

Factor: 12X2 + 22X + 6
2(6x 1k 3)
=2 X )
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@ One has to be careful when factoring quadratic trinomials into two binomials wenteeba
common fadorin fact, the box method doesn't quite work the same if you do not factor out
the greatest common factor first.
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One has to be careful when factoring quadratic trinomials into two binomials wenteesa
common fadior:in fact, the box method doesn't quite work the same if you do not factor out
the greatest common factor first.

Factor: 12x2 + 22x + 6
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@ Hopefully you have already either written or pasted into your Algebra log, the
Quadratic Formula. Use it to solve the following quadratic equation.
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Random HW Check

Turn in your HW from last

night.
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Designing an open top box,
starting from a flat rectangular
piece of metal.

Jbocn

x [
n > %%%ﬁ
[ e
/6\g)< pLH

What should the height of the finished box be in
order to maximize the volume ????
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With your partner or group, caculate an
expression for the VOLUME.
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